MTH-124 Review for Test 4

a)(x+3)2 +(y—2)2 =11, circle with center (—3, 2)
(x=2)" (y-4)

b) R =1, hyperbola with center (2,4)
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o (y“;z) + (X_44) =1, ellipse with center (4,—2)

a) y=16x* and —0<x < b)y:x—_1 where XE(—O0,0)U(0,00)
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c)y:%x+4for—4£x£6 d)x*+y? =81 for -9<x<9 , circle, center (0,0)
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e)<———=1 for —o<x<ow , hyperbola, center (0,0)
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f) ( 3 ) +(y4 ) =1 for —-1<x<5, ellipse, center (2,-5)
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a) Domain: R Range:(—3,%)

a)10' =10 b)e’ =x
a)Inx=2 b)logl00 =2
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b)Domain: (1,:0) Range: R

approximate: .477

approximate: 1.386

approximate: —419



